
Short Term Financing

Problem-1

Commercial Paper with face value of Tk.1000 each sold at Tk.950 for 120 days. What will be the cost of Commercial Paper?

Problem-2

Company needs Tk.80,000 to meet working capital requirement immediately. It has three alternative sources.

A) The Company can buy Tk.1,00, 000 of materials on terms of 3/30, net 90.

B) A Bank will lend Tk.100, 000 at 13 percent interest rate with 20 percent compensating balance requirement.

Required: Which alternative should the company choose?
Problem-3
Beximco Ltd. has got Tk.60 lakh revolving credit agreement with IFIC bank at 10 percent interest rate per year and 1 percent commitment fee on the unused portion of the credit. If the company utilized on an average 70 percent of the total commitment.
A) What is the expected annual cost of this credit arrangement?

B) What is the effective interest rate?

C) What will be the effective interest rate if the company utilized only 50percent of the total requirement?


Problem-4
ABD Ltd. Wants to borrow Tk.10 lakh from Sonali Bank for one year to meet the working capital requirement. The bank has given four alternatives.
A) 10 percent loan on a discount basis with 15 percent compensating balances requirement.

B) 12 percent loan on a collect basis with 10 percent compensating balances requirement.

C) 14 percent loan on collect basis with no compensating balance requirements.
D) 14 percent loan on a discount basis with no compensating balance.

Required: Which method is the cheapest one?
Problem-5
Rashna Chemical Complex needs working capital of Tk.5 crore. There are three alternative methods of financing.

A) To forgo cash discount granted on the basis of 3/15, net 30. 
B) To borrow from a bank at 14 percent interest rate per annum. The bank requires 20 percent compensating balance loan amount.
C) To issue commercial paper at 12 percent. The cost of issuing the commercial paper would be Tk.50, 000 in each six month period.

Required: Which method should the company choose?
Problem-6

A) Calculate the annual cost of foregoing a cash discount of 2 percent offered for payment within 20 days if debtors normally pay after 40 days.

B) R & Z Company Ltd. Wants Tk.40 lakh as working capital. three following alternative modes of financing are available :
1) Forgo cash discount granted on a basis of 3/15, net 45 and pay on the final due date.
2) Borrow Tk.50 lakh at 14 percent interest maintaining 15 percent compensating balance, interest payment are made in advances.
3) Issue Tk.44 lakh of six month commercial paper to net 40 lakh.

Required: Which alternative should the company select and why?
Intermediate Term Financing
1. Rahima food Ltd. needs Tk. 6 lakh to finance its intermediate term capital requirement for remodeling of food processing equipments.Agrani Bank agreed to meet the requirement at 14% interest. The loan should be repaid in next 8 years. You are required to show the repayment schedule under:
a. Balloon payment method

b. Capital recovery method

2. National bank Limited (NBL) granted a term loan of Tk. 50 lakh to be repaid over 4 year period. The interest rate is 15%. The loan will be paid at the end of every year in equal installment including the interest on the outstanding amount.

Required: a) How much should be paid in each installment

b) You are also required to show the repayment schedule over 4 year period.

c) How much should be paid if the payments are made:  
               i. Half yearly

               ii. Quarterly
               iii. Monthly

3. Consider the loan amount Tk. 50 lakh, repayment period 4 years and 15% interest rate. Show the repayment schedule of the bank term loan under Balloon Method.

